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NOTE: Attempt all q~estions. All questions carry equal marks.

The use of electronic devices are strictly prohibited.

Q. No. 1 Consider the following multiplication in decL.nal notations

(999).(abc)= defl32, determine the digits a,b,c,d,e,f.

by 3,5,7, and 9 leaves remainder 1,3,5 and 7 respectively.

If n is a positive integer such that -lL= 0.d25d25 .... ~ 810

where d is a single digit in decimal base. Find In'.

2 2 2 2
3x - 3xy + y = 7 and 2x - 3xy + 2y = 14

2002 2002
Let x be the LCM of 3 - 1 and 3 + 1. Find the last digit of x.

I



Q. No.6" 1
Let t.(x) = -- and

I-x
Where n= 1,2,3.... Calculate t2009(2009)

in (x)= to ( fnix~

~
AABC and ~ DAC are two isosceles triangles with

Q. No.8 Two intersecting circles E} and E2 have a common tangent which

touches E1 at Pand E2 at Q. These two circles meei at M and N

circle E2 again at R. .Provethat MQ bisects LP:MR.

. ~ AB is a line segment of length 24 cm. and C is its middle point.

On AB, AC and CB semi 9ircles are described.

<~.10 Prove that a4 + b4+ c~~ abc( a + b + c)


